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-�*HGDQNHQ�]X�GHQ�(YDQJHOLHQ 
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-�LP�$OWHU��ZHQQ�GLH�.UlIWH� 

VS�UEDU�QDFKODVVHQ� 
-�YRU�HLQHU�VFKZLHULJHQ�� 

OHEHQVEHGURKOLFKHQ�2SHUDWLRQ� 
-�EHLP�HUVWHQ�$Q]HLFKHQ�HLQHU� 

VFKZHUHQ�(UNUDQNXQJ 
-�LQ�VFKZLHULJHQ�/HEHQVODJHQ 
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(LQ�3IDUUHU�NRPPW�DXV�GHQ�1LHGHUODQ�
GHQ�]XU�FN�XQG�KDW�]ZHL�3IXQG�.DIIHH�
PLWJHEUDFKW��$Q�GHU�*UHQ]H�SDFNW�LKQ�
GDV�VFKOHFKWH�*HZLVVHQ��/�JHQ�ZLOO�
XQG�GDUI�HU�QLFKW��.XU]HUKDQG�NOHPPW�
HU�VLFK�MH�HLQ�3DNHW�XQWHU�GLH�$UPH��
%HL�GHU�.RQWUROOH�IUDJW�LKQ�GHU�=|OOQHU��
�+RFKZ�UGHQ��KDEHQ�6LH�LQ�+ROODQG�
HWZDV�HLQJHNDXIW"���-D��PHLQ�6RKQ���
HUZLGHUW�HU�HKUOLFK���=ZHL�3IXQG�.DI�
IHH��$EHU�LFK�KDEH�VLH�XQWHU�GHQ�$U�
PHQ�YHUWHLOW�� 








